April 6, 2018

6.4 Slope-Intercept Form
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ex. A Iine%p‘asses throughand has a slope of -3/4. Write the equation of
this line. LS = - B/L]L
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Ex. Graphy = - % X {2) ex. Write the equation of this line
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ex. Tickets to a school dance cost $5 and the organizers must pay $300 for
the DJ.

a) Write the equation that relates the profits (P) based on the number of

ticket (x) sold.
et () so Y= 95X = 2po

Y= mx +
b) What is the profit if 123 people come to the dance?

P(JZ%) — 6(/1”:9*50@ Ob/\/b W
P2o)= pIS5-300 fbt{:%f@
Pllzv)= 1%

c) If the profits are $350, how many tickets were sold?

250 = HX ~B0b f po6

> 200

e50 = 5
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Homefun: pg. 362 #4abef, 5acde, 6abc, 7abce, 8-14, 16, 17, 19, 21-23




